INNER GUNWALE, 20 x 40 mm,
GLUED THEN

D
QUTER GUNWALE, 20 x 40 mm, O
GLUED FIRST BOTH SIDES
)
GUNWALE RUBBING STRIP, F Y
15 x 40 mm HARDWOOD,
FASTENED AFTER PAINTING 3075
THE HULL WITH ONLY - |
5 x 50 mm SCREWS
SPACED 250 mm D 7 48|
. B g
r()
“ U-BOLT 8 DIA./M6, STAINLESS STEEL
7 FORWARD MOORING CLEAT,
] '.'. LENGTH 150 mm
215 — |6 x 80 mm PAN HEAD SCREW
FIRST, THEN REMOVED AND
, REPLACED WITH 10 x 100 mm
/ HARDWOOD DOWEL AFTER TAPING
— 300 950 300 PLYWOOD TO PLYWOOD JOINTS
D c 35 % 30 mm 2200 / 1100
SCREWS A B D E F ©
672.5 | o KEEL, TWO LAYERS OF 20 x 40 mm GLUED TOGETHER OVER
SusnzRuzZisn| ™ THE BUILDING STOCK BEFORE SETTING UP THE BOTTOM, THEN
GLUED AND ALTERNATELY SCREWED TO BOTH PANELS WITH
35 x 30 mm SCROWS SPACED 75 mm, THEN TAPED. INSIDE STEM, THREE AND FOUR
LAYERS OF 20 x 40 mm
(E)IITETIIIDEEDSDE EDGE % FNSXERZISEDmIvnHESIIC RTEHWE GLUED TOGETHER, THEN GLUED
TO BEVEL SRS DOWEL ON THE SIDE AND SCREWED TO PLANKING
N A SIDE_BENCH, HARDWOOD, EACH PANEL GLUED OVER A MOULD OF FIVE LAYERS WITH 3.5 x 30 mm SCREWS
OF 20 x 20 mm, FASTENED AFTER PAINTING THE HULL WITH SCREWS ONLY SPACED 50 mm, THEN
] TAPED OUTSIDE ONLY WITH
BENCH SPACER 20 x 20 mm, RESIN AND MAT
ALL GUSSETS GLUED AND DOWELLED TO PANELS
OF 10 mm PLYWOOD, WITH TWO 8 x 80 mm HARDWOOD . 60
GLUED AND SCREWED DOWELS ‘
WITH 5 x 25 mm SCREWS / 5
ALL FRAMES OF 20 x 40 mm BEVELED TO N C .
SIDES AND TO THE BOTIOM, GLUED AND — h
NAILED WITH 1.2 x 20 mm’ NAILS SPACED C C
50 mm ON SIDES, GLUED AND SCREWED 953 ; 280 . 5 x 50 mm s
WITH_ 3.5 x 30 mm SCREWS SPACED 75 mm 8 I SCREWS Ey/ x\
ON THE BOTTOM —— s
[ - o - o
~ ([e] ]
— ™~ Lo
TEMPORARY N S 475 475 475 475
FRAME SPREADER —12 I !
CLAMPED TO IS AFT . 1940
BENCH KNEES S
CLEAT,
— LENGTH C
150 mm

SIDE_BENCH BLOCK, -
B 20 x 40 mm q
SIDE_BENCH_KNEE,
701 - 10 mm PLYWOOD, GLUED g - “
| AND NAILED TO THE SIDE - ~

S| / FRAME AS WELL AS TO w — e — \ \ -
THE BENCH BLOCK WITH T ux

1.2 x 20 mm NAILS

5 x 35 mm PAN
HEAD SCREW FIRST,
THEN REMOVED
AND REPLACED WITH
8 x 40 mm
HARDWOOD DOWEL

AFTER TAPING ;
s oo S A ST D MO Jo e 18 i 1210 s
JOINTS ~ 2 X mm mm,
/ AR At OF BRASS. AL SCREWS OF BRASS RESIN AND MAT TO SIDES AND TO THE BULKHEAD UNDERSIDE ONLY
ScrAr = ALL SEAT BEAMS OF PASTENED O THE STEM
SCREW ' ALL PLYWOOD TO PLYWOOD JOINTS WITHOUT TIMBER ALl SEAL BEAMS OF 1
FIRST STITCHED WITH 1—1.5 mm COPPER WIRE, THEN AT SEAT BEARER. 40 x 20 YO, LAYERS ATHTHE S x o0 rm
TAPED BOTH SIDES WITH EPOXY OR POLYESTER RESIN . 40 x 20 mm OF 20 x 40 mm
AND ONE LAYER OF CHOPPED STRAND MAT EACH SIDE. /
MAT WEIGHT 450 g/mZ2 MAT STRIPS WIDTH 100 mm , . | . = TN

SEAT CLEAT 20 x 30 mm

BUOYANCY TANK A
INSPECTION HATCH,
OPENING DIA. 100 mm\ ‘

MOTOR BOARD, TWO LAYERS OF 10 mm
PLWYOOD GLUED TOGETHER AND TO THE

TRANSOM, THEN GLUED AND FASTENED

TEMPORARILY TO SIDES, THEN FASTENED \H TEMPORARY SPREADER SCREWED

PERMANENTLY WITH 3.5 x 30 mm SCREWS il T0 SIDES, THEN REMOVED AFTER

SPACED 50 mm WHEN THE DOVEL ON FASTENING GUNWALES AND TAPING
THE INNER GUNWALE IS IN PLACE PLYWOOD TO PLYWOOD JOINTS

MOTOR BOARD BEAM,
20 x 40 mm, GLUED

[ —

10 x 100 mm AND NAILED TO THE
HARDWOOD
DOWEL % 50 v NAILS
7 . 750
|
T Qy |
I
I
I
| o B
1 I
f/ | k | 2t
| 3 ) | o
I7 : — 6 mm PLYWOOD —
80 mm _| | SCARF JOINT 60 mm SCARF JOINT
. 750
. & O
PANEL ARRANGEMENT . —— @ @ @ﬁr @
DRAWN FOR THE PLYWOOD SHEET ! g {} H
SIZE 1.22 x 2.44 m |
ALL OTHER SMALL PANELS | e
CUT FROM SCRAPS : ™~
/ HULL CONSTRUCTION
| SHEET EL.3/3, SIZE A1
= | SCALE 1:5, 1:10, 1:20
3 K\ ‘/7 i 1600
|
‘/7 RADOSLAW WERSZKO
L APRIL 2023, JANUARY 2025
T0 mm PLYWOOD & mm PLYWOOD

COPYRIGHT © RADOSLAW WERSZKO. ALL RIGHTS RESERVED




